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Instructor: Dr.R.A.G. Seely 5th Practice Assignment
Algebra & Functions (Maths 201-016)

Radical Expressions

Simplify each expression

1. V36 21. /20
2. —/64 22. /27
3. v/—16 23. /50
4. —/121 24. /75
5. 3v4 25. /63
6. 23v/1 26. /128
7. 7V25 27. /147
8. (/4 28. /144
9. T 29. /500
10. 21,/1% 30. V243
31. /900
1. \/g 32. /1000
12, 12,/2 33. 5v2+3V2
13, 7 34. V5+9V5
R e 35. =247 + 87
15. /232 36. V24 V8
16. VI8 37 —VIZ+ V3
38. —v/20 — /45
17. /(=3)2

39. 13v/8 — 261/18
2
18. /8675309 40. —5V/38 + 463

19. V8 A1, 24/27 — 3v/50 — 5/3 + /32
20. V12 42. TV/75 + 2v/45 — /500 — 5v/12
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59.
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61.
62.

—V/63 — /50 + 21/28 — 5/72
2v/45 — 3v/18 + /72 — /20
3v/63 + 2¢/121 — /28 — /81

v/501v/501 (Hint: look at the previous

two exercises. )
(2v/5)(3V/5)

V6(9/6)

V2V8

(vV3)(4v12)

V5(1 +/5)

V6(—V6 + /24)
V3(VT = V15)
V2(3v6 + 5v/11)
(5v2 + V6)(TV6 — 3v2)
(2v/3 + 3/5)?

(V3 —5V8)(2V8 + v3)
(4V3 = V2)(V12 + 3V2)
(3v2 + V6)(v6 — 4v2)
(V2 — 3v/10) (V10 + 2v/2)

In the following exercises assume that all

63.
64.
65.

66.

variables represent positive numbers.
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V1225
3v/20a%y?
14y/T82 121
37\/2425

43?2 /4829y 216
5x3y\/W
vy T
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2v/3
25
3v/3
5v2
5V3
3VT
8v2
V3
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12
10v/5

9v3
30

10v/10
82

10v/5
—16V/7
3v2

-3
~5V5
—52/2
2V7

V3 —11v2
25v/3 — 44/5
VT — 352
4v/5 — 3v/2

7V7+ 13
2

7

501

30

54

24
V5 +5
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V21 —-3v56
6v/3 + 5v/22
64+/3 4 12
57 +12V/15
—6v6 — 77
10v/6 + 18
—2/3—-18
—26 — 105
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22:4y?

21/2
2a5y3V/3
62%y\/5
42x1y%2%/2
102%y7v/6
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